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8.06 Parabolas and Circles Review Date:
1. Identify the characteristics of the parabola. Graph and label all parts.
3)2=12(x+1 Z2ny cish 16
vy—3) ( ) L"F"g\ O{Jr%rjt | 1
=3 A [,
P)= :Eg 5 f' ' ) Z
3 LY s
- I N By A
Vertex: ("' , 3\ T ! ﬂﬁ o Y
= | L=
n -
Focus: ( ULJ. 31) B v B B il
)
Directrix: . & T
- :) fl E 7] /
Axis of Symmetry: U= j
-6
\
Focal Width: IQ\ { 10

2. Write the equation of the parabola x%? — 8y — 4x + 12 = 0 in standard form. Identify the vertex, focus,
directrix, axis of symmetry, and focal width. Graph the parabola and label all parts.
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3. Write the standard form of the equation for the parabola with a focus at (4,2) and directrix at y = —8 Identify
its characteristics. Graph the parabola and label all parts. ' 0 f ny U F
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4. Use the equation (x + 4)2 + (y — 1)2 =4 and 5. Write the equation of a c1rcle with center (0;5)
Identify the center and radius. Graph the circle. and radius=v15. Graph the circle.
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6. Given a cirg ith center (4,4), draw a circle 7. Put the equation of the circle into . ?-> :
that is tangentito x = - | then write the equation standard form. Identify the center and radius: [ 1 I"I éZ_ J
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8. Find the equatlon of acircle whose center is at (5, -2) an A}A{’cains the point (-3, 1). ( 2 2
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9. Find the equation of a cixcle whose dlameter has endpoints at (4, 9) and (20, -11).
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10. A furniture store adverhses free delivery up to a 30-mile radius from the store. Which, if any, of these

customers qualifies for free delivery? Q ; 03 ) ‘/
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Hannah lives 7 miles north and 29 miles east of the store, /; +29°=r 4 hd 3 /
Anna lives 16 miles west and 24 miles north of the store. =, ) /6 34 24 2 { :Q? . ? LIL <L 30

Nikki lives 28 miles west and 12 miles south of the store. V™ = /2 ?4 2p > r= )’) O q_ C J) .7 3 O
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